CITY OF NEW BEDFORD

APPLICATION FOR LAYING DRAIN

Application Nº 19289	Board of Health Permit No.		
To the Mayor and City Council.	New Bedford, Mass., July 12, 1971		
To the Mayor and City Council: I hereby request that a drain be laid from the	premises of Anna Trips		
w. s. A wahaut Ave	50' N N Pull IT.		
and the same of th	50'n of Lucy It		
	1		
to connect with the sewer in	ushnet Hue street,		
Works.	repaired as directed by the Commissioner of Public		
I hereby agree to pay at the office of the City the manner specified, in excess of the deposit mat the work.	Treasurer all cost of performing the above work in the de herewith, within 10 days after the completion of		
payment of the cost of performing the work don be returned to me by the City Treasurer.	e, and that any excess of deposit over the cost shall		
Witness & Bryant anna	Liggs.		
Witness & Bryant and Typ Property owner 3001 aushner ave			
	Address		
Ву			
for roof water	Address		
Consent of Owner of Private Drain			
To the Mayor and City Council:	New Bedford, Mass.,		
•			
. 0			
	g with sewer in		
	street.		
*	Stock		
	Owner		
	Owner		
Estimate and De	Owner eposit Requirement		
	eposit Requirement issioner of Public Works,		
Office of Commi	eposit Requirement issioner of Public Works, escribed in the above application is		
Office of Commi	eposit Requirement issioner of Public Works, escribed in the above application is Total deposit required 456.00		
Office of Commi	eposit Requirement issioner of Public Works, escribed in the above application is Total deposit required 456.00		
Office of Commi	eposit Requirement issioner of Public Works, escribed in the above application is Total deposit required 456.00		
Office of Committee My estimate of the cost of laying the drain de 441.00 Assessed Entrance charges /5.00	eposit Requirement issioner of Public Works, escribed in the above application is Total deposit required 456.00		
Office of Committee My estimate of the cost of laying the drain de 441.00 Assessed Entrance charges /5.00	eposit Requirement issioner of Public Works, escribed in the above application is Total deposit required 45600 Commissioner of Public Works the of Issue		
My estimate of the cost of laying the drain de 441.00 Assessed Entrance charges /5.00 Certification	eposit Requirement issioner of Public Works, escribed in the above application is Total deposit required 456.00 Commissioner of Public Works te of Issue Office of City Clerk,		
Office of Committee My estimate of the cost of laying the drain de 441.00 Assessed Entrance charges 5.00 Certification The above application, accompanied by City	reposit Requirement issioner of Public Works, escribed in the above application is Total deposit required Commissioner of Public Works Teasurer's receipt presented this day; whereupon		
Office of Committee My estimate of the cost of laying the drain de 441.00 Assessed Entrance charges 5.00 Certification The above application, accompanied by City Permit No. 19289 was issued, a	reposit Requirement issioner of Public Works, escribed in the above application is Total deposit required Commissioner of Public Works The of Issue Office of City Clerk,		
Office of Committee My estimate of the cost of laying the drain de 441.00 Assessed Entrance charges 5.00 Certificate The above application, accompanied by City Permit No. 19289 was issued, a	reposit Requirement issioner of Public Works, escribed in the above application is Total deposit required 45600 Commissioner of Public Works The of Issue Office of City Clerk, Treasurer's receipt presented this day; whereupon and the Commissioner of Public Works notified of the		
Office of Committee My estimate of the cost of laying the drain de 441.00 Assessed Entrance charges 5.00 Certificate The above application, accompanied by City Permit No. 19289 was issued, a	reposit Requirement issioner of Public Works, escribed in the above application is Total deposit required Commissioner of Public Works Te of Issue Office of City Clerk, Treasurer's receipt presented this day; whereupon		



NOTICE TO COMMISSIONER OF PUBLIC WORKS Length of drain 70 Sewer depth 9'pipe system Surf. drain City of New Bedford, Office of City Clerk, To Commissioner of Public Works. Permission has this day been issued to Property owner Address Address to lay drain from the premises of TIMMA to connect with the sewer in Laid from main in street to iron pipe in property. line Owner agrees to supply all necessary Requires separate entrance for sewage and roof water

RETURN OF FOREMAN

	Entered Sept. 51	19 7
	Time Lo. A.M.	
	By Jesse M Jou	229
S	COST	
glas	Labor hours @	
£ 10	sal Jovores 9 " 3.39	\$30.51
5 D	Joseph Nyfonso 9 " 3.12	28.08
Nork	port ST. Presto 9 " 3.12	28.08√
3510	TOM BURK 9 " 3.37	30.33 √
23 8	lod Braga 9 " 3.58	
3		\$149.22
4 8	Stock	*
Front Stati	17 1 8 0 1 20	.90 ~
40	12 b 8 9 (onev 6)	.12 /
lonal	n Driveway 38 x 3 B. Top	
char	n/c-see note at side -	402
	11/2 12/10 to 21/1/19/	
~ 1	Trucking	
A.	35-4-HR5@6.55 -	26.20 √
	67-1-HR, @3.00-	3.00√
	52-1-HR, @3.35 -	3.35 √
_	Total Cost	182.79
2	Estimate-cost of laying drain 441	
,	Entrance charges 1500	
200	Total deposit	
3 -4	Balance due A Juge	238 -1
2 2	Pieces pipe to curb	None
3	" " curb to house 7 6-1047	choces 1-19
3	Cut at sewer 8 5 fl	0 +
Q	Cut at curb	n Proporty
	Cut at sewer 8 5 ft' Cut at curb Size of pipe 6'' 7 cm 5.7 0	CA.
	Correct	
	Big Stones	Foreman
(D19 578005	